EARAROBEEIERT — 2 N— IBISH —F

201741270 (OK) 15m55#3H

IR > %RC8# C8 ¥5%R—Mk& (xwlw | lmEmml - |5 ) eom 8
[xE£] 1%:180,000 1  2#&:42,000™ ~ 33#%&:18,000 W ~ 437%&:13,000 W 5 3#&:9,000H
B BB RESB MK HE BF (F8) 4L (&%) | BBIEG | EOF |SIEH | AR | HE | NG FIR) / BE / £EHS
35 ST 43 | WEES 1:44.4 8-8-3-1 |38.3| — 1 4715 | NEH (BEHE)
118|837 7 5.0 - o | (B MHE—E-nF TR
L:vA7% B:IZI90MT597 HOHS
2 o | HUFNRAT it 5 ﬁi%ﬁﬂﬁl 1;(455).4 2-2-2-3 | 40.1| — 7 421 %(g;%’f (ﬁff;’?‘)h Coas
. » 7
LA vaLyy B:HIXEUT (-9) J—HrTr—L
31] 1B/ N=N=N #H 6 g?é{'é’ﬁﬁ'l (11415/27> 1-1-1-2 405 — | 3 | 50 E}Eﬁ%i (%42)
RiELTHANAN BI—YA—BE 9 | feis
s A . E — j
4 RESEE N 4 E‘?S;” (11.415/.29) 5-5-8-6 | 39.4 4 (3:35 %g;ﬁi—(gf)w
L:R)—LTv—=— B:5C1LTM1L2 #"HBET7—L4
51glg| 2759525 # 5 | BBRZ (11:416/.22) 7765 |39.9| — | 9 ;1_587) %§§§ (&)
R:T7RI(YL—> B:T4T79—F H e ]
6l7l7 2L LTI RS 4 4 ;’%‘%ﬂﬂl (11:416/.25) 4-4-5-4 | 40.6 | — 5 460 E(@%g}ﬁ(%ff;‘)wcja‘/
L:ZFAT—I K B:aAXREIHAT1 © EvJlLy RIT7—L
7 6| r 1Yy —rn—% it 3 gﬁ%k‘ﬁu 1:(457>.5 6-6-7-7 |41.3| — 2 467 zggz (5#2)
Lidr—3T7r BYLITFELTR (-3) FUIY NS
glsls|2r1>avers o4 g{l;?’éz 1:&8).4 3-3-4-8 |42.9| — | 6 ;1_555) ﬁ(;';ig%?(%?)hgyay
Rixq4ayK—5— B rOEHINY-—X AP OIS
XA R=3I>Uk—L B:vH¥—T b g—L— - T vy T7—LBERE
® 1 — @B
13—7F— 1,2,5,7,4,6,9, (3,8)
2o =7r= 1,2,5,7,4,6,9,8,3
J=7r= 1,2,8,5,7,9,6,4,3
43—+ — 8,1,2,7,9,4,6,5,3
[ F/N=5
B R 8 110M 74K 2-8 950M % E 2-8 2,710M & 1-2-8 3,430
% B 8 100 1-8 160F B & 2-8 5,080 3EE 8-2-1 15,400
2 650/ 1-2 2,700M BB 8-2 3,780H
1 120M

ABICOVWTRDTEEERROODE. TR LIV,




